In this practice, we look at the effects two drinks critics have on drink prices in the UK. The two critics are R.P from the US and C.C. from the UK. 

Data are available on the ratings by R.P. and C.C. for each of the 72 drinks.
R.P. uses a 100-point rating system with drinks given a whole number
score between 50 and 100 as follows:
96–100 points   Extraordinary
90–95 points   Outstanding
80–89 points   Above average to very good
70–79 points    Average
50–69 points   Below average to poor

On the other hand, C.C.  uses a 20-point rating system with wines given a score between 12.5 and 20 that ends in 0 or 0.5 as follows:
20 Excellent.				16 Very good
19.5 Very fine indeed 			15.5 Good plus
19 Very fine plus 				15 Good
18.5 Very fine 				14.5 Quite good plus
18 Fine plus 				14 Quite good
17.5 Fine 					13.5 Not bad plus
17 Very good indeed 			13 Not bad
16.5 Very good plus 			12.5 Poor

Data are available on the following other potentially important predictor variables:

• P95andAbove is a dummy variable which is 1 if the drink scores 95 or above
from R.P. (and 0 otherwise). 
• TypeA  is a dummy variable which is 1 if the drink is Type A (and 0
otherwise). 
• Availability is a dummy variable which is 1 if the drink is always available (and 0
otherwise). 
• distributer is a dummy variable which is 1 if the drink  is distributed by  xxxx (and 0otherwise). 

•Superstar is a dummy variable which is 1 if the drink is a superstar (and 0 otherwise). 

In summary, data are available on the following variables:

Y = Price = the price (in pounds) of dozen .
x 1 =R.P.Points = R.P’s rating of the DRINK (out of 100)
x 2 = C.C.Points = Clive C.C’s rating of the DRINK (out of 20)
x 3 = P95andAbove = 1 (0) if the R.P. score is 95 or above (otherwise)
x 4 = typeA = 1 (0) if the DRINK is Type A (otherwise)
x 5 = availability = 1 (0) if the DRINK is available  (otherwise)
x 6 = distributor = 1 (0) if the DRINK is from XXXX (otherwise)
x 7 = Superstar = 1 (0) if the DRINK  is a superstar (otherwise)

The data are given in the file drink.

In particular you have been asked to:
1. Develop a regression model that enables you to estimate the percentage effect on price of a 1% increase in R.P.Points and a 1% increase in C.C.Points using a subset, or all, of the seven potential predictor variables listed above.

2.  Using the regression model developed in part (1), specifically state your estimate of the percentage effect on price of
(i) A 1% increase in R.P.Points
(ii) A 1% increase in C.C.Points

3. Using the regression model developed in part (1), decide which of the predictor
variables R.P.Points and C.C.Points has the largest estimated percentage effect on Price. Is this effect also the most statistically significant?

4. Using your regression model developed in part (1), comment on the following claim: “C.C.” is very serious and well respected, but in terms of commercial impact his influence is zero.

5.  Using your regression model developed in part (1), decide whether there is a statistically significant extra price premium paid for a drink with P.P. score of 95 and above.

6. [bookmark: _GoBack] Identify the drinks in the data set which, given the values of the predictor variables, are:
(i) Unusually highly priced
(ii) Unusually lowly priced
